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QUESTION 1

Which four statements are true with respect to the APPS schema? (Choose our.)
A. It has synonyms to all base product tables and sequences.

B. Each products schema grants full privileges to the APPS schema.

C. It contains only its own data objects (tables, sequences, and indexes).

D. It is the only schema that has universal access to Oracle Applications.

E. Run-time usage of Oracle Applications is through the APPS schema only.

F. Data objects for the Applications technology-layer products (FND, AD, and so on) are stored under the APPS
schema.

Correct Answer: ABDE

QUESTION 2

You have done a single-node installation of Oracle Applications R12 on node 1. Because of some resource issues, you
move only DB_ORACLE_HOME(10.2.0.2) and the database (.dbf files) to a new server (node 2). Which statement is
correct about uXXXXXX.drv being applied to node 1 and node 2?

A. UXXXXXX.drv only on node 2

B. uUXXXXXX.drv only on node 1

C. uXXXXXX.drv on node 1, and then on node 2

D. uXXXXXX.drv on node 2, and then on node 1

Correct Answer: B

QUESTION 3

Which two statements are true about the APPS schema? (Choose two.)

A. The APPS schema owns all code objects.

B. The APPS schema owns all the products\\' data objects.

C. The APPS schema has synonyms for all base tables and sequences.

D. The APPS schema owns the technology-layer (FND, AD, and so on) data.

Correct Answer: AC
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QUESTION 4

Which AutoPatch option is used to run a noninteractive autopatch session?
A. defaultfile

B. defaultsfile

C. default_file

D. defaults_file

Correct Answer: B

QUESTION 5

Identify the environment variable that points to the $COMMON_TOP/java directory in Oracle Applications R12.
A. JDK_TOP

B. JRE_TOP

C. JAVA_TOP

D. JAVA_BASE

Correct Answer: D
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